15 <4

@

@D 7< V50
@ 2+ V6>

® V2+1<2

@ Vi5+1>4

6+ V3



2. 6V6+3V2x5V6=aV2Z WSt f24a O g7

® 10 @ 15 ® 20 @ 25 ® 30



Hol7} 50,72 & AAEEe] 5 A7t ek A4 2zre] Wi
Zolg 7597

@ 43, 6V3 @ 42, 6V2 ® 53, 6V3
@ 52, 6v2 ® 5V7, 6V7



@ V121
® Vo4

® Vi



ol
BN
ol

ofg

a>0,b>0¢<

5.

@D Va2b = ab
\/7
a2



)

%%&A=<\/§)2+ (;)2—\/5,13: VI00 - /(-13)*

< w, 104 - B 9] & F-stoiet

D R
=%



5 Ape) 444 n o igked, \/5lnt 13) o] 4447} %S s g
o grel ge

O 69 @ 719 ® 89 @ 99 ® 109



8. V891 -8la 7} AL W, A4 a 2 ghe] g& Fotefet.

D L
=%



Ua oS 2 o7H Al =z 4Eg o, | iAo o= =7

L oV 2 4B

@ 4 ®\/g ® V12
@ -2 ® V3



o|J

0|
olig
Nfo

ojn

©® Zo=2 YEof



11. ot =24 919l A A,B,C,D,E ¢t BH7]9] 7} 245 AZ24H A
T 72mW9
A B C, D E
-4 -3 -2 -1 0 1 2 3 4
(1]
H7]
2
-V9,1- 2, \/7,5,—\/§+5
2
@ A -9 @ B:-V3+5 ®c: 3
@ D: 7 ® E:1-2

fijo



12.

T A% V3 9 V5 of e ohg 4

o,
ofN
go
N,
5§
rlo
N,

1.414, V5=2.236)

VB - 05 & V2 8k B Afolol sl Felole,
V2402 = V2 2 V5 Afolell Sl Felgeolth
VB 9 v Apelel gl Felolc
V3 9 VB Afololls 4 2 A7t ek

© ® © ® ©

AT

V2 9 B Afolelis 53] e Felset gah el el



13. V54 =aV6, VIO =6Vh, Ve =2V3 L W, a+b+c o TS
Fofeder,

5 L
=%



14. 330+ V5= \/gznm o ), o] ZHS Thelet.

Hin=



ﬁ

1&\m+ﬁ<g—%>w@=w%wﬁQWwwﬂﬁ%

ﬁ

Fsteler.

aﬂiaer:



16. 12(3V10- V2)—- V2(8V5-1) =aV2+b V10 & W, a+ b © gH-2?
(&, a, b= FEoltt)

@ -5 ® 10 @ 17 ® 23

@ -11



17. o& 59 229 frelePt 9 A0

V2+ V3 V6-2v2  5v2-3v6

\/_\/__\/g_—5—2\/6 ©) \/§\Fr1 = 5

2 442

® 3_2\/§=3\/§+4 @ 2_2@:’2‘/§+4
1 \5-1

Vi+1 4



18.

AFLEANA V15 =3.873L W, a = 0.38732 TH=

ot

O 1500

@ 0.015

@ 15

® 0.0015

@ 0.15

Sh=a

1



19. o B0l £7] e AL BE T2

A x 7} ¥ a O AlFTOIH, a = £ /xolth
© x 7FAFE 9 o] x = 30|t}
© 7.5 9 AlFE2 EAoHA] E=rt.

© -7 o Agee - ol

ORON®) @ 0O, 6 ® 9,6,
@ 9,060 ® 0,6,



20. (-9)? o PO AF2E a, VBB o S0 ABZL b AL T W, a+b
of g2 Fsfoier.

Eia+b=



21. o=olA x o gh= stofz=t.

V252 & V7 9] x Hjolt},

Bes-



22. tE H7|9 A, B, C, D, E oA 7P & 59 7P 22 50

Fateler.

H7]

@ Vi5=AV3
© 3V3+4V3=CV3

® V021+ VT =E+V3

=

©
@

V22 x52x3=BV3

3v2
¥ ~P¥

D S
=%

tlo



23. 985 a b7t -1<a<0,ab=1&WH=T off,

L I P

a

5 Rog
3%



Vab

a+ b, Va+ Vb




25.

ohe 28E BT, a- b 9] 3 Fotolel

Das4-+V39 4

(2)b=2x+T7y=15x-8y & o,

Ay o] H4olct,

Zxbolc

agia—bz




